ITHHRISFEEY =27 (EARIFH) THMSEER  ERRK (5% 7HA2608)

T iE B
15, fk & L 15. R & L
@ KERMEEREL @ ERMBREREL
5. Hflz*F b, Hifz*k
£5 2 STTL—VIL—CORIBRVERESR %5 2 STTL—VIL—2OBRIEBRUEHRESR
KkITTH7T 7o FITL—r T L— REHEE R KFTb7T a7 D FSITFL— T L— FEMER =R
620 i LR 4y i T4y
48 7 (H/t) (%) 4 7 (A/t) (%)
A~ R~ 0.15 5.7 AR~ ER A~ 0.15 4.7
H ) i 0.10 5.0 ) n i 0. 10 4.0
ik 0. 05 7.0 i 0.05 6.0
BRE ~ ER~ i E 0.27 5.7 X~ E R~ E 0.27 4.7
P L S 0.17 5.0 77 L i 0.17 4.0
ik 0.10 7.0 = 0.10 6.0
%5 4 BIRDIZEABISHRUVEHESR £5 4 BIRDICKIBEISHREVERESR
Wi T X 4 RS LU WL EEIEER FhMEE R T 4y FE1% LU WL wEEER MR R
(N/t) (N/t) (N/t) (N/t) (%) (N/t) (N/t) (N/t) (N/t) (%)
621 HE~EE A~ E 0.71 1. 43 0.71 0.71 10. 6 BXE ~ B R~ R 0.71 1.43 0.71 0.71 8.3
= A 0. 49 0.99 0. 49 0. 49 10.0 2 A 0. 49 0.99 0. 49 0. 49 8
* 0.22 0. 44 0.22 0.22 12.0 i * 0.22 0. 44 0.22 0.22 9
#5 8 MIRDHNOEISHEEHEGHERVEMEE REAE 100m UTDHE) #5 8 MIRNANOEISHEBMEGRHERVEMESE REAE T00m U TDIHE)
G615 UL | EmEEER | BEL STFL— | SRR 55 UL | EmEEE | mEL ST L— | SRR
T X 4y (AN/100m?) | (A/100m?) | (A/100m?) | (A/100m?) L=y (%) e T X 4y (A/100m?) | (A/100m?) | (A/100m?) | (A/100m?) J L= (%)
622 (A/100m?) (AN/100m?)
HE~E R~ R 4.7 7.3 8.3 3.4 4.7 4.8 PO~ H R~k 4.7 7.3 8.3 3.4 4.7 3.4
= A 2.9 4.6 5.1 2.1 2.9 4.0 2 A 2.9 4.6 5.1 2.1 2.9 3.0
* 1.8 2.7 3.2 1.3 1.8 6.0 i * 1.8 2.7 3.2 1.3 1.8 4.0
£5 10 BIRDADEISHEHBESR =5 10 BIRNBDOEISHEHERESR
LR LUOT AT WEEEE TR R L G5 LU RET TEEEE FEMER R
LR VS VS I RS (/1) (%) e T o G0 | oo | O (/1) (%)
623 BE~EE~E | 0.26 0.26 0.26 0.52 6.8 BE~EE A~ | 0.26 0.26 0.26 0.52 5.4
=% & 0.16 0.16 0.16 0.32 6.0 % & 0.16 0.16 0.16 0.32 5.0
1t * 0.10 0.10 0.10 0.20 8.0 fit * 0.10 0.10 0.10 0.20 6.0




